# YOUR DAY YOUR WAY

AT THE MASLOW

Sum The Maslow



# CAPTIVATING BEAUTY LET'S PUT A RING ON IT Whether you're looking to have a small, intimate wedding with only close friends and family or a large, elaborate affair with an extensive guest list, The Maslow offers the most romantic backdrop in the heart of Sandton. SUN INTERNATIONAL CREATING LASTING MEMORIES



## WEDDING MEMORIES TO HAVE AND TO HOLD, FOREVER

The best wedding day memories have little to do with the gown, floral arrangements or the dinner, it's saying "I do" in ideal surroundings that create moments worth remembering. Make The Maslow yours for a day with our unique wedding package.

#### THE PACKAGE INCLUDES:

- Exclusive venue hire (18h00 00h00)
- Pristine white table cloths and napkins, banquet round tables & chairs, cutlery, crockery, glassware & tables numbers
- Complimentary welcome cocktail
- Three-course buffet or set menu
- Waitrons and bar staff
- Complimentary wedding night in our Executive Suite for the couple with romantic turndown and sparkling wine
- Devotion Journey Spa package with Africology for the bridal couple
- Preferred room rates for guests staying at The Maslow
- The following items are excluded: venue décor, entertainment, table décor and audio visual

Rate is based on minimum of 70 guests. Should less guests be booked, the rate inclusions will be adjusted.

R795pp





# THE MOST ROMANTIC RETREAT

Calm pre-wedding nerves with the Devotion Journey Spa package with Africology. Enjoy a steam session, 60-minute herbal oil massage, devotion shower and gifts, complemented by a delectable lunch on the Africology rooftop deck.















# A WALK TOWARDS MEMORY LANE

The first steps you take as newlyweds are some of the most treasured memories of the day. Make that moment even more memorable with one of our unforgettable reception settings.

















# OUR VENUE AND ROOM SPECIFICATIONS

We've got room to accommodate more than your special day. After a day of grand celebrations, your wedding guests can have a good night's rest in one of our luxury rooms or suites.

| VENUE<br>SPECIFICATIONS<br>VENUE |       | LENGTH | WIDTH | SQM | HEIGHT | BANQUET | CABARET | COCKTAIL | DANCE FLOOR | CINEMA | TOTAL |
|----------------------------------|-------|--------|-------|-----|--------|---------|---------|----------|-------------|--------|-------|
| Optima Ballroom                  | 1     | 18     | 8     | 144 | 3.62   | 80      | 48      | 100      | 50          | 120    |       |
| Exemplar Ballroom                | 2     | 18     | 8     | 144 | 3.62   | 80      | 48      | 100      | 50          | 120    |       |
| Paragon Ballroom                 | 5     | 18     | 11    | 198 | 3.62   | 120     | 72      | 150      | 100         | 180    |       |
| Full Ballroom                    | 1+2+3 | 18     | 27    | 486 | 3.62   | 300     | 168     | 350      | 200         | 400    |       |
| Ballroom                         | 1+2   | 18     | 16    | 288 | 3.62   | 160     | 96      | 200      | 100         | 240    |       |
| Ballroom                         | 2+3   | 18     | 19    | 342 | 3.62   | 200     | 120     | 250      | 150         | 300    | -     |
| Vertex Conference Room           | 1     | 14     | 8     | 112 | 2.6    | 50      | 36      | 60       |             | 100    |       |
| Zenith Conference Room           | 2     | 14     | 8     | 112 | 2.6    | 50      | 36      | 60       |             | 100    |       |
| Conference Room                  | 1+2   | 14     | 16    | 224 | 2.6    | 100     | 72      | 120      | _           | 200    | _     |
| Auditorium                       |       | -      | -     | -   | 4.8    | -       | -       | -        | -           | -      | 50    |
| Restaurant (Lacuna)              |       | -      | _     | _   | -      | -       | _       | -        | _           | _      | 190   |
| Terrace (Lacuna)                 |       | -      | -     | -   | -      | -       | -       | -        | -           | -      | 60    |
| Garden                           |       |        |       |     |        | 100     |         | 200      |             | 150    |       |
| Parking Bays                     |       |        |       |     |        |         |         |          |             |        | 371   |









## ROOM TYPES

|     | Total Rooms                          | 281 |
|-----|--------------------------------------|-----|
| SUE | Executive Suite                      | 5   |
| SUB | Luxury Suite with Balcony            | 14  |
| SUJ | Junior Suite                         | 4   |
| PAR | Accessible Room                      | 7   |
| LQB | Luxury Queen Room with Balcony       | 19  |
| LQS | Luxury Queen Room with Shower        | 131 |
| LQU | Luxury Queen Room with Bath & Shower | 60  |
| LTS | Luxury Twin Room with Shower         | 27  |
| LTW | Luxury Twin Room with Bath & Shower  | 14  |

SUN INTERNATIONAL CREATING LASTING MEMORIES

## Reservations



\*\*\*

Address: Corner Grayston Drive & Rivonia Road, Sandton, 2146, Gauteng, South Africa GPS Co-ordinates: 26° 5′ 53.25″ S 28° 3′ 28.06″ E Telephone: +27 10 226 4600 Email: maslow@suninternational.com

f The Maslow Hotel
☑ @TheMaslowHotel

#### SUN INTERNATIONAL HEAD OFFICE

6 Sandown Valley Crescent, Sandton,

Gauteng, South Africa Tel: +27 10 226 4600 Fax: +27 11 780 7716

#### CENTRAL RESERVATIONS

Tel: +27 11 780 7800 / 7810 Fax: +27 11 780 7443

Email: crobook@suninternational.com

### INTERNATIONAL RESERVATIONS

Tel: +27 11 780 7878 Fax: +27 11 780 7878

Email: crobook@suninternational.com

| Facilities                    |                | CASINO CASINO SUN  |
|-------------------------------|----------------|--|
|                               |                |  |
| & Activities                  |                | DWALK IVAL CIT IVAL CIT IVAL CIT IVAL CIT INGO INGO INGO INGO IN SUN ICELLO ILA ICELLO ILA INGO IN SUN INGO INGO INGO INGO INGO INGO INGO ING  |
| & ACHVILLES                   |                | RDWAL COUSEL CASIN WOWES CASIN AN SUN |
| 0 / (0 (1 / 1 (1 0 0          |                | RDWAL COUSEL COUSEL COUSEL COUSEL COUSEL COUSEL COPA NTICELL NTICELNTI |
|                               |                | BOARDWALK CARNIVAL CI CAROUSEL FEDERAL PAL FISH RIVER S FLAMINGO GOLDEN VAL GRANDWEST MEROPA MONTICELLC MONTICELLC MONTICELLC CASINO OCEAN SUN NAO CASINO CASCADES SOHO CASCADES SOHO THE MASLOW THE TABLE B TIME SQUARI WILD COAST  |
| FACILITIES                    |                |  |
| BABYSITTING                   | <u>♥</u>       |  |
| BEAUTY SALON                  | <b>@</b>       |  |
| BUSINESS CENTRE               |                | •  |
| CONFERENCE                    | 1111           |  |
| COURTESY BUS / TRANSFERS      | <del>==</del>  | • • • • • • •  |
| CRÈCHE                        | •              |  |
| GYM                           | 11-11-         |  |
| HEALTH CENTRE                 | <b>@</b>       |  |
| HELIPAD / HELIPORT            | H              |  |
| RESTAURANT                    |                |  |
|                               |                |  |
| SAUNA / STEAM ROOM            | В              |  |
| SWIMMING POOL                 | ~<br>*#        |  |
| SPA                           | ☆              |  |
| WEDDING CHAPEL                | Ö              | • • • • • •  |
|                               |                |  |
| ACTIVITIES                    |                |  |
| ARCHERY                       | <u> </u>       |  |
| BOWLS                         |                |  |
| CHILDREN'S ENTERTAINMENT      | A              |  |
| CINEMA                        | *              |  |
| CULTURAL VILLAGE              | · <b>W</b>     |  |
| DRUMMING                      |                |  |
| FISHING                       | r              | <ul><li>• • • • •</li></ul>  |
| GAME DRIVE                    | •              |  |
| GOLF                          | Ŷ              |  |
| HORSE RIDING                  | •              |  |
| HOT AIR BALLOONING            | <u> </u>       |  |
| ICE RINK                      | <u> </u>       | •  |
| JOGGING / MOUNTAIN BIKE TRAIL | Ť              |  |
| KIDDIES STEAM TRAIN           | Q.             |  |
|                               | <u>iii</u>     |  |
| MAZE                          |                |  |
| MINI GOLF                     | <u></u>        |  |
| NIGHTCLUB                     | <u> </u>       |  |
| PARAGLIDING                   | <u></u>        |  |
| QUAD BIKES / GO-KARTS         | <b>≈</b>       |  |
| RIVER / LAKE CRUISE           | <u>≈</u>       |  |
| SCENIC FLIGHTS                | =  =           |  |
| SCOOTERS / OFF-ROAD BIKES     | <del>ठें</del> | <ul><li>● • • • • ●</li></ul>  |
| SEGWAY                        | <del>ठें</del> | • • • • •  |
| SHOPPING                      | ₽              |  |
| SLOTS CASINO                  | <b>•</b>       |  |
| SNOOKER / BILLIARDS / POOL    | •©             |  |
| SQUASH                        | Ŷ              | • • •  |
| TABLES CASINO                 | <b>A</b>       | • • • • • • • • • • • • • • • • • •  |
| TABLE TENNIS                  | Ŷ              | •  |
| TENNIS                        | Ÿ              |  |
| TEN-PIN BOWLING               | •••            |  |
| THEATRE                       | <u> </u>       |  |
| VOLLEY BALL                   | <u> </u>       |  |
| WATERSPORT                    | <u> </u>       |  |
|                               |                |  |
| ZIPSLIDE                      |                |  |

47

SUN INTERNATIONAL CREATING LASTING MEMORIES 46



T +27 (0)11 780 7000 For more information visit suninternational.com

